
6x

M5x126x M  = 4NmA

Vorderseite / Front side

Druckfarbe: schwarz

Größe: DIN A4, einseitig

Print colour: black

DIN A4, one sheet

Printing films / setting copies to be acquired from advertising department.

Druckfilme / Vorlagen sind in der Abteilung Werbung zu beschaffen.

Bemerkung: Original Logo gemäß dem neuesten Rittal Corporate Design verwenden !

Note: Use original Logo of latest Rittal Corporate Design !

Schrifttypen: Helvetica, altern. Arial

Font type: Helvetica, altern. Arial

Raum für Verpackungsdatum
Area for date of packing
( MMJJTT / MMYYDD )

Dok.-Nr. / No. of doc.: A09633202SK
Lieferanten-Nr. / No. of supplier:

QR-Code (15 x 15 mm) gemäß AA-TL-013
QR code (15 x 15 mm) according AA-TL-013

www.rittal.com

Made in XXXXX

XXXXX = Herstellerland
Land of manufacturing

Dieses  Bauteil  unterliegt  den  Reglementierungen  der  RoHS  Richtlinie  und  deren  Umsetzung  im  ElektroG.
This component is subject to the RoHS directive and its applications within the Electrical and Electronic Equipment Act (ElektroG).

Schutzvermerk ISO 16016 beachten
Comply with protection notices ISO 16016

Mounting kit VX side panel for LCP VX

Mounting of side panel holder (same mounting at right and left side of LCP's)
Please refer to the operating instructions of your LCP.

M5x12

M5x12

M5x12

M5x12

M5x12

M5x12

The side panel has to be turned in a way that the grounding studs 
protrude into the punch outs that have been broken out. 

SK
3313.089

TX 30

! Break out these two punch-outs  !

Finally, mount the side panel with the screws M6x16 (8x) into the 
existing holes in the side panel (enclosed with side panel articles).

6x

M5x126x M  = 4NmA

Vorderseite / Front side

Druckfarbe: schwarz

Größe: DIN A4, einseitig

Print colour: black

DIN A4, one sheet

Printing films / setting copies to be acquired from advertising department.

Druckfilme / Vorlagen sind in der Abteilung Werbung zu beschaffen.

Bemerkung: Original Logo gemäß dem neuesten Rittal Corporate Design verwenden !

Note: Use original Logo of latest Rittal Corporate Design !

Schrifttypen: Helvetica, altern. Arial

Font type: Helvetica, altern. Arial

Raum für Verpackungsdatum
Area for date of packing
( MMJJTT / MMYYDD )

Dok.-Nr. / No. of doc.: A09633202SK
Lieferanten-Nr. / No. of supplier:

QR-Code (15 x 15 mm) gemäß AA-TL-013
QR code (15 x 15 mm) according AA-TL-013

www.rittal.com

Made in XXXXX

XXXXX = Herstellerland
Land of manufacturing

Dieses  Bauteil  unterliegt  den  Reglementierungen  der  RoHS  Richtlinie  und  deren  Umsetzung  im  ElektroG.
This component is subject to the RoHS directive and its applications within the Electrical and Electronic Equipment Act (ElektroG).

Schutzvermerk ISO 16016 beachten
Comply with protection notices ISO 16016

Mounting kit VX side panel for LCP VX

Mounting of side panel holder (same mounting at right and left side of LCP's)
Please refer to the operating instructions of your LCP.

M5x12

M5x12

M5x12

M5x12

M5x12

M5x12

The side panel has to be turned in a way that the grounding studs 
protrude into the punch outs that have been broken out. 

SK
3313.089

TX 30

! Break out these two punch-outs  !

Finally, mount the side panel with the screws M6x16 (8x) into the 
existing holes in the side panel (enclosed with side panel articles).

6251900
Made in Germany

6x

M5x126x M  = 4NmA

Vorderseite / Front side

Druckfarbe: schwarz

Größe: DIN A4, einseitig

Print colour: black

DIN A4, one sheet

Printing films / setting copies to be acquired from advertising department.

Druckfilme / Vorlagen sind in der Abteilung Werbung zu beschaffen.

Bemerkung: Original Logo gemäß dem neuesten Rittal Corporate Design verwenden !

Note: Use original Logo of latest Rittal Corporate Design !

Schrifttypen: Helvetica, altern. Arial

Font type: Helvetica, altern. Arial

Raum für Verpackungsdatum
Area for date of packing
( MMJJTT / MMYYDD )

Dok.-Nr. / No. of doc.: A09633202SK
Lieferanten-Nr. / No. of supplier:

QR-Code (15 x 15 mm) gemäß AA-TL-013
QR code (15 x 15 mm) according AA-TL-013

www.rittal.com

Made in XXXXX

XXXXX = Herstellerland
Land of manufacturing

Dieses  Bauteil  unterliegt  den  Reglementierungen  der  RoHS  Richtlinie  und  deren  Umsetzung  im  ElektroG.
This component is subject to the RoHS directive and its applications within the Electrical and Electronic Equipment Act (ElektroG).

Schutzvermerk ISO 16016 beachten
Comply with protection notices ISO 16016

Mounting kit VX side panel for LCP VX

Mounting of side panel holder (same mounting at right and left side of LCP's)
Please refer to the operating instructions of your LCP.

M5x12

M5x12

M5x12

M5x12

M5x12

M5x12

The side panel has to be turned in a way that the grounding studs 
protrude into the punch outs that have been broken out. 

SK
3313.089

TX 30

! Break out these two punch-outs  !

Finally, mount the side panel with the screws M6x16 (8x) into the 
existing holes in the side panel (enclosed with side panel articles).



6x

M5x126x M  = 4NmA

Vorderseite / Front side

Druckfarbe: schwarz

Größe: DIN A4, einseitig

Print colour: black

DIN A4, one sheet

Printing films / setting copies to be acquired from advertising department.

Druckfilme / Vorlagen sind in der Abteilung Werbung zu beschaffen.

Bemerkung: Original Logo gemäß dem neuesten Rittal Corporate Design verwenden !

Note: Use original Logo of latest Rittal Corporate Design !

Schrifttypen: Helvetica, altern. Arial

Font type: Helvetica, altern. Arial

Raum für Verpackungsdatum
Area for date of packing
( MMJJTT / MMYYDD )

Dok.-Nr. / No. of doc.: A09633202SK
Lieferanten-Nr. / No. of supplier:

QR-Code (15 x 15 mm) gemäß AA-TL-013
QR code (15 x 15 mm) according AA-TL-013

www.rittal.com

Made in XXXXX

XXXXX = Herstellerland
Land of manufacturing

Dieses  Bauteil  unterliegt  den  Reglementierungen  der  RoHS  Richtlinie  und  deren  Umsetzung  im  ElektroG.
This component is subject to the RoHS directive and its applications within the Electrical and Electronic Equipment Act (ElektroG).

Schutzvermerk ISO 16016 beachten
Comply with protection notices ISO 16016

Mounting kit VX side panel for LCP VX

Mounting of side panel holder (same mounting at right and left side of LCP's)
Please refer to the operating instructions of your LCP.

M5x12

M5x12

M5x12

M5x12

M5x12

M5x12

The side panel has to be turned in a way that the grounding studs 
protrude into the punch outs that have been broken out. 

SK
3313.089

TX 30

! Break out these two punch-outs  !

Finally, mount the side panel with the screws M6x16 (8x) into the 
existing holes in the side panel (enclosed with side panel articles).


